HFEARAEE 3 5 (BE45BMR)

)\$L$ﬂﬁf% YR — Ei

T D I5 1k RAAT E R G AL

- AAL)

I = £ 4 IZJIIL(REBEFE&EI$
i TIERL=8.3m +T. —3X
BERE T oo JfE T A=29.9m2
LB B e ass7.om
HWET —=X g T —=X
A KL E A B T4 AT ST
H AFSEL0H 1A (&)
AFI3E9 A 28 H () BIEET fHE Hipy
K = SR LIAR () HRIT
AALAm 2,860,000 [
%O 2 M+ kdstich -
AL R e A SIS 3,146,000 M
T EAMmAE (FBiiA) 3,166,900 M
H4NO P T4 1= HH) 2[a1 85 (1) 3[EE ()
o6 |0 i mRR 2,970,000
lo71 |77 2,950,000
1107 | HALEA 2,860,000 VAL
1109 |POEIAIESR 2,954,000
10 |@0Ameie 3,100,000
UTF&H
akak il St 2 — A AL (AR — 3T )

BTN ZEE AL 1,000 5 400
AR 3 kPS4t

HTNZEH B k544
WRNZERE 541

[SV4E S BPOE TN

FEMAH AR




